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UNIT: mm
g DIM. | TOL.
M1 2.0 +0.2
] 0.9 M2| 16 | #0.2
* M3 1.0 MAX.
M4 0.5 +0.3
o O
E —
¥ 2.0
3.
Irms Irms | sat | sat
(uH) (mQ) (mQ) (A) (A) (A) (A)
+20% Typical MAX. Typical MAX. Typical MAX.
MCS20FC-R24MMP 0.24 17 21 5.0 4.50 5.6 5.05
MCS20FC-R33MMP 0.33 24 29 4.1 3.69 5.0 4.50
MCS20FC-R47TMMP 0.47 33 40 35 3.15 4.4 4.00
MCS20FC-R68MMP 0.68 41 49 3.4 3.06 3.7 3.33
MCS20FC-1ROMMP 1.0 60 69 2.6 2.26 2.9 2.61
MCS20FC-1R5MMP 15 114 129 2.0 1.81 2.5 2.25
MCS20FC-2R2MMP 2.2 135 150 1.7 1.50 1.9 1.71
NOTE:
1. 1MHz ,1V
2. 26°C
3 -40"C +125°C
4, -50"C +125°C
5. Isat 30%
6. Irms 40°C
Rev.F P1




MCS20FC-R24MNMP MCS20FC-R33MNMP
70 0.40 80
60 0.35 70
=i 1.1 T TP P AN i TV T e SSPRPRPRRRARR 60 —
= “PllE o
El s = S 025 | 50 %
= ===Inductance / {140 = = £
2013 - s = g 020 40 2
5010 booo) =Temp.Rising | . {30 = g &
o U = TR A T ——— .. — 30 &
= s = ]
e e e e T || B 5 i
= 005 i -
003 Lo 110 0.05 | 10
0.00 0 0.00 0
0 05 1 15 2 25 3 35 4 45 5 55 6 0 0.5 1 1.5 2 2.5 3 35 4 4.5 5 5.5
DC Bias [A] DC Bias [A]
MCS20F C-R47MNMP MCS20FC-R68MNMP
0.55 / 70 0.80
0.50 | / =1 60 0.75
R S — [T/ S
e U 50 E S 065 oo S 30 )
E0as e e A 15 S (| 2 0.60 - B
@ ===Inductance 40 = o ===Inductance 0 =
2 030 |- R —— = 2055 |- : 2
g 025 |....] ==Temp.Rising | / ______ 30 2 % 050 p---] ™=Temp.Rising | A TS - 30 =
= = = O S £ s e s oI s st e Lo =
2 0.20 20 3 2 0.45 | 20 E
015 i T 04D e e -
0.10 0.35 oo e e g
0.05 0 0.30 0
0 0.5 1 15 2 25 3 35 4 45 0 0.5 1 L5 2 25 3 35 4
DC Bias [A] DC Bias [A]
MCS20F C-1ROMMP MCS20FC-1RSMMP
L.o0 70 70
J 1.60 7]
sl 1 60 60
EO | T s e T S TR N P s v sl e I L R EE L EEEELEEE L JCLELEELEELRRERS
= 0:85] [oeememnnna i s 50 1) = D20 e e I 50 5
2080 |l e 50 2100 foo e g =
3 ors =—inductance e = i il ===Inductance 40 £
Sl B &= S 080 |1 g =
£ o070 | ——Temp.Rising | .. £ . T E U = ==Temp. Rising Tan S
= = =2 v pe-mm———— g 7 =
Sl e e e s 0 3 = {120 3
Q1.7 S : T ]
0558 |cconspraemiieer 1o 020 - 110
0.50 0 0.00 P ')
0 0.5 L LS 2 25 3 35 0 02 04 06 08 1 12 14 16 18 2 22 24 26
DC Bias [A] DC Bias [A]
MCS20FC-2R2MNMP
2.40 0
2.20
2.00 60
L e e A 30 i
e 11 . A =
= o
i ==Inductance [’ 0 =
S 120 |--oe- =
Z1.00 |- ==Temp. Rising 0%
=080 | : Eem PR A £
B0 [ O R R R =
0.40 | -4 10
0.20 }-
0.00 - L - 0
0 0.2 04 06 08 1 1.2 14 16 18 2 22

DC Bias [A]




